StationPi SMT

Fully finished backplan adapter

By lan Jin

Nov 23, 2022 Ver. 1.0

Page 1 2020-10-23 iancanada.mail@gmail.com



A. Introduction

StationPi SMT adapter PCB KIT was designed for RaspberryPi based audio applications to make them
integrated better with RaspberryPi or other digital music sources. It can optimize the DIY DAC or digital
transport to be more closed to a final product. The whole performance can also be improved as a

consequence of the lower EMI noise.

B. Highlighted Features

Two stacks configuration.
Independent power supplies directly to the GPIO of each stack.
Double ground plates to shield the RaspberryPi EMI noise.

Much easier to mount the whole setup into a case.

Audio HATs can be installed in two different originations to fit the case.

Comes with a full set of connectors and screws and standoffs.
Fully finished, without needing any additional soldering jobs.
Works for FifoPi Ma, FifoPi Q3 and Q7

Works for both master mode and SYNC mode audio HATs

Great to build DAC or digital transport projects.

C. KIT includes

Two shield plates attached and two spacer sticks
Two DIP jumpers

6 of 6+4mm, M3 standoffs

6 of M3 screws

6 of M3 nuts

8 of 11+6mm, M2.5 standoffs

8 of M2.5 screws

8 of M2.5 nuts

2 of 2PIN DC power input terminal connectors

Page 2

2020-10-23

iancanada.mail@gmail.com



D. Layout and Dimensions (in mm)

0

i) —

“<

HLtva
C———— HWA A¥Id (RS C—— HWvAd Avld 0B C—
C—// oo 1 AUV (S C— 0o 1Y UYVK dBINS CT—— W9 Idy
r" I ininnnnnnnnnninii I I "1

)

lo

L®

StationPi SMT
DESIGN BY IanCanada

AUDIO HATs

IlNNNNINNNEENEEEEEERD
L’ IIEENERNNEREENONREREINNI SJ

iiainnil
(I I N
iInnfnnini

=-
- 4

All rights reserved
iancanada.mai I@gmail.com

“@
H14v3

_

J7

SIVH oranv

o~
o

TO SHARE RP§ 5V WITH AUTIO 5v:

SHORT 1-2, 3-4 or SHORT S1

WHILE KEEP AUDIO 5V UNCONNECTED

51
(=
) i

1 mm|
I

IIIIIIIIIIIIIIIIIIII
14k 11aqdsoy

BETTER TO CONNECT EARTH

TO FitoPi CLEAN GND

OR ANALOG GND

TPL

AUDIO 5V
EITHER FROM
FifoPi J3
or FROM J5

[01 10}
J5 = DC5V 4

J
2

r
(A

4
4

F@'\
L4z
¥201d9_£201d0

- s
S20I49  ONO

—l

LD

'a®)
)

,\
0

Page 3 2020-10-23 iancanada.mail@gmail.com



E. Getting start

1. (Optional) Solder the two shield plates PCB to the reserved positions between two stacks. Start from
one of the feet at top to make them vertical to the StationPi SMT PCB and parallel to each other. Then
the rest feet at bottom side. Put the spacer sticks in between to keep the proper space.

2. Assemble the standoffs and screws.

3. Mount the StationPi SMT PCB into a case if required.

4. Install a RaspberryPi (face down) into the GPIO J1.

5. Install the rest of audio HATs, such as FifoPi, into the GPIO J2 or J7 according to the required
orientation.

6. Connect analog ground of the system or the ground of FifoPi clean side to the EARTH of StationPi
SMT by a grounding wire. It can be connected either to the TP1, TP2 or to the screw footprint marked
EARTH.

7. Connect a DC 5V input to J3 as RaspberryPi power. Connect another DC 5V input to J5 as Audio
GPIO power.

8. Now, it's ready to build the rest of your system with StationPi SMT.

F. Q&A

1. If aFifoPiis installed to the J2/J4 or J7, how to power the FifoPi Pi side?

You can power FifoPi Pi side either from J5 of the StationPi SMT (recommended) or from J3 of the
FifoPi.

2. Can | share only one DC 5V power supply with both RPi and FifoPi Pi side?

Yes, you can. You need Short 1-2 and 3-4 of S1 with two DIP jumpers. In this case, you just need to
power J3 with a 5V/2.5A power supply. And at the same time, leave J5 and J3 of FifoPi unconnected.

3. If aFifoPiis installed, do | still need power the FifoPi clean side?

Yes. FifoPi clean side is isolated from StationPi SMT, you will need a very high quality independent
3.3V power supply to power the J5 of a FifoPi.

4. What's the J6 for?

J6 is optional for potential use of some RaspberryPi GPIO pins.

Page 4

2020-10-23 iancanada.mail@gmail.com



[4 | £ | ¥ | S

b 2Z0¢ 'S0 i _Repsany Sed
0¢ I 1 ! uir uey A

Aoy 1aquiny Juswnaoq 8719

L1INSIduonels
Sl
A9L/AN0LZ A9L/4N0LZ
HYOLO3INNOOdY pexTI &q 03 spssu 9nd STYL

01 g@0d SY1 Yo1eIos 01 PasN
109UU0D 1,UPTP €0 JO INId
fELON

wwszgl

of <

A8L/AN0.LE AGoIpNY Aéld

SIODILIYdYD TYNOILAO H H
_ HIMYH er + +
_ E
4 §080/3dWNPIYNOILLO 1S ASld © AGld 2
€0

wwg >
S 29l o

19
7Eopny T L2

—

sr or =
¢dl ldl _

] 4 T
TA9vIOY 4 T 0AuviOY
1409 OIdN¥ AdNOEDS H¥OL03INNOOdY
HOLOANNODHOY 13400Sd0Y
0rSz¥3aYIH
GEE % i . o=z % o . GE & .
o€ &t I 9 &t I 9 ot I
) bo S Shid ) oS- S | e & SMid
e € e T
0c 62 0f 6z 4
AT AT 8¢
@ G ! 9 g S 9z sz !
ve € - vz €z
< @ iz - w1z
1 e oo 9LLu3aYIH . e o |
a9 &l D LASVION 9 gl
! v€l v €l 0AdVIOY yL gl
M0Sid mw Fm Mosid mw ﬁm SRR mﬂ _w
g L g L 8 L
w m 1002l w m 1002 w m 10071
z ; vaozl 4 ; vaozl 4 ! vadzl
NEOIPnY NGOy el eneld
¢l
I b
] | z | € I ¥ | S

Schematic

G.

iancanada.mail@gmail.com

2020-10-23

Page 5




H. Pictures

1. StationPi SMT assembled

s
[ RARN
O oW
SO &

2. RaspberryPi and FifoPi installed to StationPi SMT

Page 6 2020-10-23 iancanada.mail@gmail.com



3. RaspberryPi and FifoPi installed to StationPi SMT (in different orientation)

I. History of revising

Oct 23, 2020 V0.9b released

Nov 23, 2022 V1.0 released

© 2022 lan Jin. The firmware code embedded in the StationPi SMT is the property of lanJin. You are granted a non-exclusive,
non-transferable, non-sublicenseable, royalty-free right to use the StationPi SMT solely for your own, non-commercial purposes.
You may not distribute, sell, lease, transfer, modify, adapt, translate, reverse engineer, prepare derivative works of, decompile, or
disassemble the software provided. All rights reserved.

Page 7 2020-10-23 iancanada.mail@gmail.com



